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Section : English Langisgs

Q.1 Identify the amar in the following sertenca,
T get rest, Sarup does not work in Sundays.
Ans X 1.not

X 2.to0
o 3.0
X 4. get
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Status :
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1.2 Select the most appropriate opticn to fill inthe blank.

The Primae Minister, a great impressed the audience.
Ans X 1. orator:

o 2. orator,
25 3. Orator
X 4. orator;
Question Type : WG
Question ID : GINDGE0ZE2FAZ
Option 1 ID : B3DGE09TITE0
Option 2 ID : E3DGB09TI14E
Option 3 ID : G3NGE0STII4T
Option 4 ID : BINGENGTA14S
Status : Anewered
Chosen Option : Z
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0.3 Select the approprigte meaning of the given word.
Farbidden
Ans X 1. Authorised
o 2. Prohibited
/< 3. Forlorn
/X 4. Exclusive
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Status : AnEwered
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0.4 Select the option thet expresses the given sentence in passive volce.
He knows me,
Ans X 1.1have been known by him.
#< 2.1am know by him.
X 3.1was known to him.
o 4.1 am known to him.
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Question ID : B30GS0ZEOEAS
Option 1 ID : G3DGENT0A0E0S
Option 2 ID : GADEEN00E0T
Option 3 ID : EADGEN Iaa08
Option 4 ID : G30GENTDREATE
Status : Anewered
Chosen Option : 4
Marks : Z




Q.5 Select the INCORRECTLY spalt word in the given semance,

Tell me your favourite dessert between chocolate cake and jelly douhma,

Anz X 1. Chocolate

/X 2. Dessert
o 3. Douhnut
X 4. Between
Question Type : WG
Question ID : GADGE0ETAES
Option 1 ID : GANGE0TDET2SI
Option 2 ID : 63DGBITDGT291
Option 3 ID : GANGENTIGT204
Option 4 ID : GANGETMGTIEE
Status : Anewered
Chosen Option : &
Marks :
0.6 Select the most appropriate guestion tag to fill In the béank.
Ewen when we were Bving in the same city, you hardly wisited us,
Ans X 1.youdo?
5 2. you did?
/< 3.doyou?
" 4. did you?
Question Type : KICO
Question ID : EIDGEIZTAL6E
Option 11D : EADGEN DEEIES
Option 2 ID : B30GENTMEIET
Option 3 ID : B30GENTHEIES
Option 4 ID : EANGEENTDEEIBE
Status : Angwered
Chosen Option : 4
Marks : &
Q.7 Select the most appropriate prepasition to fill in the blank,
The host opened the door and admithed the drama troupe ____ the palatial bungalow.
Ans X 1.towards
/< 2. across
X 3. with
o 4.into
Question Type : KICO
Question ID : EADGES0ZE2E11
Option 11D : EIDGR0GET 24
Option 2 ID : BINGE0GET E25
Option 3 ID : BADGEI9ETE2S
Option 4 ID : BIDGEE09ETE26
Status : Answered
Chosen Option : 1
Marks :




1.8 Select the most appropriate opticn to fill inthe blank.

The organisers were averwhelmed by the audience support.

Ans X 1. similarly

X 2. anyway
o 3. totally
X 4. finally
Question Type : WG
Question ID : GADGS0ZE2F2S
Option 1 ID : BIDGE0YTITIG
Option 2 ID : E3ADGBI9TIZFIS
Option 3 ID : BADGRISTAFIT
Option 4 ID : B3NGENSTIFIE
Status : AnEwered
Chosen Option : &
Marks : Z
0.9 Select the most appropriate option o 6l in the blanks.
What is the difference beteeen __ hash table and _____ binary search tree in data
BinUCTLmesE =
Ans "1 aa
X 2.a,an
X 3.the,a
X 4.a, the
Question Type : KCO
Question ID : 63DGA02ENTY
Option 11D : E3D&BN0E1114
Option 2 ID : B30GEIT0ET1171
Option 3 ID : B30GENT0AT1112
Option 4 ID : EANGEENTD1113
Status : AngwiEred
Chosen Option : &
Marks :

.10 The following sentence has been split into four segments. Identify the segment that contains

& grammatical o
Had Soapy / not reached the avenues intime, / the villagers will have [ lost their wealth.

Ans X 1.not reached the avenues in time
5 2. lost their wealth
/X 3. Had Soapy
w# 4. the villagers will have

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

hACC
BADGE0ZB0GRS
GADGE0T 0036
6306801090738
GADGE0T 00735
EIDGENT 0R0TF




.11 The following sentence has been split into four segments. Identify the segment that contains
& grammatical o

Studies hiave found that / people from cultures that embraced moare collectiviet ideals

thinking J happiness more in terms of harmony and contentment, / while more individualistic-
minded peaple connact it to fealings of exuberance and |oy.

Ans o 1. people from cultures that embraced more collectivist ideals thinking
#< 2. happiness more in terms of harmony and contentment
/X 3. Studies have found that

Z< 4. while more individualistic-minded people connect it to feelings of exuberance and joy

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

o[
GADEB0ZTA452
EIDGENT DEEI 2D
BADGENT MEIZT
BIDGENT 66T
6306801066322

.12 The given sentence has an efror, Select the option which rectifies the emor,

As soon as | reached home, { stan to rained,
Ans X 1. was starting to rain

< 2.reach home
o 3. started raining
#< 4. had reached home

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MEC0
BANGE0ZTA4ER
GADGE0TGE22E
G3ADGE0TDGE2ZT
EIDGA0T DEEL2ZE
EIDGSIT DaE224




0,13 Select the most appropriate option to fill inthe biank.

Cycling is a healthy, low-impact exercise that can b by people of all ages,
fram young children to older adults.
Ans X 1.enjoying
< 2. enjoyable
% 3. enjoyed
X 4. enjoy
Question Type : KICO
Question ID : BIDGEIZTA421
Option 1 ID : EIDGENTGETET
Option 2 ID : BINGENT04HETRE
Option 3 ID : 630GENT066196
Option 4 ID : GINDGEENTDEE195
Status : Angwered
Chosen Option : &
Marks : &
.14 Select the most appropriste option to fill in the blank.
Ginl s imeligent, _________ she?
Ans X 1.hasn't
< 2. wasn't
< 3. hadn't
¥ 4. isn't
Question Type : MG
Question ID : GADGE0ET4422
Option 1 ID : GIDGENTIGEZ0Z
Option 2 ID : GIDGEENTDEE1SY
Option 3 ID : GADGEN DEGE20T
Option 4 ID : EANGENT MEEZ0D
Status : AnEwered
Chosen Option :
Marks :
0.15 Select the most approprigte meaning of the given prover,
Don't cry over spllied milk.
Ans X 1.To feel happy about something that has already happened
X 2. To feel sorry or sad about something that has already happened
#5 3. To remain indifferent about something that has already happened
%" 4. Not to feel sorry or sad about something that has already happened
Question Type : KCQ
Question ID : EADGE0ZTAS14
Option 11D : EADGENTDEEETD
Option 2 ID : B30BENT(MESET
Option 3 ID : EANGENTIGESET
Option 4 ID : EANGEENTDEESEE
Status : Answered
Chosen Option : #
Marks : &




(.16 Select the most appropriate past tense form of the verb rise” to fill in the blank.
The gun . sharp &t 5:30 a.m. in the moming.

Ans X 1.haverisen
75 2. had rose

%" 3. rose
< 4. had been risen

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCO
EADEE02A0E2
EIDGS0T 0A0A04
EI06E0T 090803
6306801090805
EAD6E0T 090806

(.17 Select the most appropriate meaning of the given idiom,

Lt the cat out of the bag
Ans X 1. To keep a secret

#5 2. To be curious about a secret
/5 3. To take a cat out of a bag

w# 4. To reveal a secret

Question Type
Question ID
Option 1 ID

MGG
: BADGE0ETASAT
: BADGE0TDGETTT
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Marks :

EIDGE0TDEETO2
EADGE0TDEEGST
EADGE0TDGETON
Anawered
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.18 Select the most appropriate symorym of the given wand.

Resgite
Ans X 1.Flavour

/< 2.Scope

%" 3. Rest
X 4. Summary

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :
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0,19 Select the most appropriate ANTONYM of the ghwen ward,
Malcious

Ans X 1. Powerful
25 2. Altruistic
/< 3. Beautiful
%" 4. Benevolent

Question Type : KCQ
Question ID : EADGRIZEOEET
Option 11D : G3DGEINDEMOSE
Option 2 ID : G3NGENT(E0RIOL
Option 3 ID : E30GENT 020906
Option 4 ID : E3DGE01090903
Status : Answired
Chosen Option : #
Marks : &
Q.20 Select the most appropriate opticon to fill in the blank.
Thee author ___ several beat-gelling novels.
Ans X 1. have written
%" 2. has written
< 3. had been written
25 4. will wrote
Question Type : KCO
Question ID : EIDGR0ZEOTIT
Option 11D : E3D&EN0&1104
Option 2 ID : E3NGEIT0ET103
Option 3 ID : 630GENT0EA1105
Option 4 ID : EANDEENTDAT106
Status : Arswered
Chosen Option :
Marks : &
0.3 Select the option that expresses the ghven sertence in passive voice,
The famous musician composed the song,
Ans X 1. The famous musician was composing the song.
#< 2. The song was composed by the musician.
/X 3. The song was being composed by the famous musician.
w#" 4. The song was composed by the famous musician.
Question Type : MG
Question ID : BANGRIETA5I
Option 1 ID : 63DGEN1DGEE63E
Option 2 ID : GIDEENTDEEE3T
Option 3 ID : EADGEN DEEE2E
Option 4 ID : EANGENTMEEE3E
Status : Anewered

Chosen Option : 4
Marks : Z




0.22 Select the most appropriate option to fill in the blanks.

What is the difference between ____ artificlal network and ____ corventional network?
Anz X 1.a;an

X 2. an; the
X 3.the;a
o 4. ana
Question Type : WG
Question ID : GINDGE0ZTA5IS
Option 1 ID : GANGE0TDEEEES
Option 2 ID : 63DGBI1DGEETD
Option 3 ID : GANGENTDEEGEE
Option 4 ID : GINGENTMGEHET
Status : AnEwered
Chosen Option : &
Marks : O
0.23 Select the option with the comect spelling to replace the underdimed word in the given
SEETheno,
The owner of this store is an old acquainience of her,
Amns o 1. acquaintance
#< 2. acquantance
/5 3. acqueintance
/< 4. accquaintence
Question Type : MG
Question ID : GA0GE0ZE2HI0
Option 1 ID : G3DGE0I9MA1ET
Option 2 ID : BADGE0FTINTD
Option 3 ID : GADGENSTITAZ
Option 4 ID : EADGEISTATAD
Status : AnEwered
Chosen Option : &
Marks : It
0.24 Select the most approprigte meaning of the given idiom.
(in pins and needles
Ans X 1. Readiness to accept the inevitable
o 2. In an agitated state of suspense
/< 3.In an ecstatic condition
75 4. Wholesome entertainment
Question Type : MG
Question ID : GIDGEIZE2E1E
Option 1 ID : 6306E09E1 632
Option 2 ID : GIDGE09ETE54
Option 3 ID : EADGEI9ETEET
Option 4 ID : EADGEIGET G52
Status : Anewered
Chosen Option : &
Marks : O




0.25 Select the most appropriate option to fill inthe biank.

The ___ city in the world is Tokya,
Amns o 1. most populous

/< 2. populous
25 3. populousness little populous

X 4. more populous

Question Type : WG
Question ID : GINDGE0ZTA553
Option 1 ID : GANGEENTDEETZE
Option 2 ID : E3DGBITDGETZI
Option 3 ID : GADGENTDGET2E
Option 4 ID : GAMGENTGET 24
Status : AnEwered
Chosen Option :
Marks :

pa ==

Section : Gemeral Knowladge

Q.1 Which of the following can be classified as polysaccharides?
Ang " 1. Starch, glycogen, cellulose

/X 2. Glucose, sucrose, lactose
25 3. Ribose, deoxyribose, galactose

/< 4. Sucrose, lactose, fructose

Question Type : M
Question ID : BI0G&NETN 52
Option 1 ID : B30GENT4%359
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(.81 Qe 39 SwRepgA afdror Rt wira o, oft cara R 2 lom/h 3nifor 4 kemv'h @ &1 wera

ST ST ATOT AYR AT SIgehd 3 Tehaia oy 11 Hehaia siieisd. R &t @i ¥ Hiex

ST, XX F T e
Ang 41,50
X 2.70
< 3.30
X 4.90
Question Type : MG
Question ID : BI0DGSOZETH12
Option 1 ID : GADGEE0NT 117557
Option 2 ID : GADEEIT117556
Option 3 ID : EADGET 117558
Option 4 ID : GINGENT11T555
Status : AnEwered
Chosen Option : &
Marks : 1
.22 SR '+ onfor'~" gi=ft sreetraes et onfon's' enfty '+' gt sreemage deft, AR @relier wHftereuma
usifgren (7) srft ra ade?
14+12+103 =841 =29=7
Ans X 1.96
X 2.104
X 3.49
g 4.94
Question Type : BCQ
Question ID : BIDGENZTZTIE
Option 1 ID : GINGENT5R64
Option 2 ID : 6306E010565%463
Option 3 ID : BANGEENTDSRAEE
Option 4 ID : EADGEEITDE5AEE
Status : Answered
Chosen Option : 1
Marks : i
0.23 A oy B a1 g9 sy sier 778 km ong. Aig A d B wdfa=n vars B4 krvh a1 3= aR
et AT B krny'h =0T QeREHTE T A @R ORAY, T TR QT SRS 3 e,
Ans o 1.67.2km/h
X 2.65.2km/h
< 3.68.2km/h
X 4.66.2km/h
Question Type : KCQ
Question ID : BADGEDZTTFI4
Option 11D : EADGRNDTTEZT
Option 2 ID : EINBEITOTTHES
Option 3 ID : EANGENTOTTEZE
Option 4 ID : EANGEENTDTTE2E
Status : Answered
Chosen Option : Z
Marks :




0.24 31er, T, R sraeieur @reliel Arferdan T e oy usma I<R an. wisoft & dae
SHIhg ISTdiehs FTaard! Mg,
(SAIARRGTFAPEN@I<WJIEISLT*P >3}

Fot ar2ft foreht AR emd4, Sarean ara<ata aneft Ter dan nfor drasdla Aar Teh 3ferR &fie

amg?
Ang X 1.d=
W 2.3
X 3. gehgl et
X4t
Question Type : KL
Question ID : EI0GEIETREAD
Option 1 ID : GINGENT 05280
Option 2 ID : 6306E0T0E5279
Option 3 ID : BADGENTDE52EZ
Option 4 ID : EADGENTDSES2E]
Status : Answered
Chosen Option : &
Marks :
025 ;
Tl A aidl fbad @ 4o feudi=n 12 udq fagifed
el offor @ @ Srdie feaden 2 @ fabdl. @ wqis @
ARl cabar fadl g2
Ans X 1.20%
X 2.17%
X 3.23%
o 4.19%
Question Type : KCQ
Question ID : EADGEEIZETITA
Option 1 1D : EI0&E0T 17 &600
Option 2 ID : 630GE0T 116558
Option 3 ID : E30&6E0111 6602
Option 4 ID : BADGEENTT1E801
Status : Answered
Chosen Option : 3
Marks :




